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No. of Questions / Tgt Y wE&aT : 120

Time/T77 : 2 Hours/gw2 |

[Full Marks/qor® : 360

Note : (1) Attempt as many questions as you can. Each question carries 3 (Three)
marks. One mark will be deducted for each incorrect answer,
Zero mark will be awarded for each unattempted question.
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If more than one alternative answers seem to be approximate to the

correct answer, choose the closest one.

Ife Tt Faflcirs I od IR % fiwe wdfia &, @t Feean a8 3

|
1.  Enzymes are substances which
(1}  Stops the reaction
(3) Catalyze the reaction
2. Enzyme amylase is produced by
(1)  Rhizopus sexualis
(3) Cercospora personata
3. Shorea belongs to family
ey

(3)

Dipterocarpaceae

Anacardiaceae

(2) Change the reaction

(4) Begin the reaction

(2) Aspergillus oryzae

(4) Fusarium oxysporum

(2) Verbenaceae
(4} Rubiaceae

{Turn Chver
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4. Name the protein present in bacterial flagella 7
(1) Fimbrilin (2) Tyrosine (3) Lectin (4) Flagellin
5. Systemic fungicide is
(1) Zineb (2) Dinocap
(3) Terrazole (4) Burgundy mixture
6.  Which one of the following pteridophyte posséss synangium ?
(1) Ophioglossum (2) Equiset_um
(3) Psilotum (4) Lepidodendron
7. The driving force of ecosystem is
(1) Solarenergy (2) Biomass
(3) Producer (4) Carbohydrates
8. Ribosomes consist of
(1) Protein and DNA (2) Protein and RNA
(3) RNAandDNA (4) Protein, RNA and DNA
9. Wart disease of potato is caused by
(1)  Synchytrium sesami (2) Synchytrium rhytzic
(3)  Synchytrium trichosantheoides (4) Synchytrium endobioticum

(2) (Continued)
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Deamination is due to

(1) Acriflavin (2) 2-Aminopurine

(3) Nitrogen mustard {(4) Nitrous acid

Trisomy is denoted by

(1) 2n-1 (2) 2n+ 1 (3) 2n~1-1 (4) 2n+2
Overlapping gene is reported in

(1) QB (2) HIV (3) CaMV (4) h3
Enzymes are
(1) Lipid act as biological component with catalytic properties

(2) Polypeptide chain without catalytic property

(3) Protein as biological catalyst

(4) Protein
Torula stage occur in
(1) Mucor - (2)Rhizopus (3) Agaricus (4) Saccharomyces

Coenobial alga is
(1) Oedogonium (2) Anacystis (3) Microcystis (4) Hydrodictyon
Duration of mitotic phase is

(1) 2 hr (2) 1 hr (3) 3hr {4) 30 second

(3) (Turn Over)
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17. 5-carbon sugar is

(1) Galactose (2) Xylose (3) Fructose  {4) Mannose
18. Short-day plant is

(1) Mirabilis (2) Hyoscy amus (3) Pisum (4) Xanthium
19. Causal organism of white rust is

(1) Fusarium (2) Erysiphe (3) Albugo (4) Peronospora
20. Medullary vascular bundles are present in

(1) Boerhaavia (2} Nycrtanthes  (3) Bignonia (4) Salvadora

21, Which of the following is a correct representation of enzyme catalyzed
reaction ?

() E+S>ES—>E+P

(2) E+ST=ES—HE+P

3) ES=E+P

4 E—->E+S—>ES<TE+P

22. Retort cells are found in

(1) Funaria (2) Adiantum (3) Sphagnum {(4) Azolla
13. Coralloid root present in

(1) Pentoxylon  (2) Gnetum (3) Zamia (4) Toxus

(4) (Continmued)
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24. Carrageenin is derived from
(1) Fucus (2) Gigartina (3) Gelidium (4) Laminaria
25. The cambium which produce cork is known as
(1) Phelloderm (2) Perniblem (3) Peridéerm (4) Phellogen
26. Which set of genetic code act as non sense codon ?
(1) UAC UAU, UGG (2) UAA,UAG UGA
(3) UAU,UAC,UGC (4) UGG UAU,UAC
27. Vector pBR322 has resistance genes for
(1)  Tetracycline and Ampicillin
(2)  Streptomycin and Trimethoprim
(3) Tetracycline and Penicillin
(4)  Griseofulvin and Chloramphenicol
28. Causal organism of leaf spot of rice is
- (1) Helminthosporium oryzae (2) Alternaria solani
(3)  Pyricularia oryzae (4) F usarium udum
29, Radiolabelled probe which is commonly used is
(1) *8 (2) 1 (3) *H (4) ¥P
30. Ajmalicinis derived from

(1)  Bacopa monnieri (2) Centella asiatica

(3) Clitoria ternatea (4) Catharanthus roseus

(3) (Turn Over)
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31. Mevalonic acid helps in biosynthesis of
(1) ABA (2) GA (3) IAA (4) BAP
32. Owvulation in vertebrates is induced by
(1) TUId (2) LH (3) Insulin (4) Oxytocin
33. IFN-yis produced by
(1) T-Hymphocytes (2) Leucocytes (3) Fibroblasts (4) RBC
34. Polygalacturonase is involved in
(1)  Cellulose degradation (2) Phosphate solubilization
(3) Pectin degradation (4) Starch solubiliz_ation
35. Guanyl transferase is involved in
(1) Capping (2) Shifting of polypeptide chain
(3) Movement of ribosome (4) Formation of polyribosome
36. Cleavage polyembryony is reported in
(1) Citrus (2) Casuarina (3) Brassica (4) Mangifera
37. Example of biopolymer is
(1) Cellulose (2) Xanthan (3) Starch (4) Sucrose
38. Nitrosolobus isa
(1)  Nitrogen fixing bacterium (2) Hydrogen bacterium

(3) Nitrifying bacterium (4) Sulphur bacterium

(6) (Continued)
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Which cytogenetic phenomenon is indicated by a F, phenotypic ratio
of 7:1:1:7 7

(1) Epistasis (2) Crossingover (3) Linkage (4) Duplication
Causal organism of little leaf of brinjal is
(1) Nematode (2) Bactenia (3) Virus (4) Mycoplasma

Aulosirg isa

(1) Unicellular filamentous cyanobacteria
(2) Multicellular filamentous non heterocystous blue green alga
(3) Multicellular filamentous heterocystous cyanobacteria

(4) Unicellular colonial cyanobacteria

Club moss is commonly known as
(1) Lycopodium  (2) Selaginella  (3) Equisetum (4) Pentoxylon
Trophic levels are formed by

(1)  Only plants (2) Only animals

(3) Only camivores 4) Organisms linked in food chain
Leakage of electrolyte from cell is due to the activity of
(1) Toxin : (2) Protease (3) Lipase (4) Cellulase
Zearalenone is produced by the species of
(1) Penicillium  (2) Fusarium (3) Alternaria (4) Aspergillus

(7) {(Turm Over)
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46. Puff region is present in
(1) B chromosome (2) Lampbrush chromosome
(3) Polytene chromosome (4) X-Chromosome
47. Dinitrophenol disturbs respiration by preventing
(1)  Oxidative phosphorylation (2) DNA transcription
(3)  Mitochondrial lysis {4) Anoxia
48. Yolk sacis not found in

(1) Amphioxus (2) Chick (3) Birds {4) Mammals

N

49. Tag DNA polymerase isolated from
(1)  Thermus aquaticus (2) Thermus inequalis
(3)  Bacillus amyloliquefaciens  (4) Bacillus thuringiensis
50. DNA methylation is responsible for-
(1) Mutation (2) Gene silencing
(3) DNA replication (4) SOS Repair
51. The intron splicing studied in detail by
(1)  Marshall Nirenberg (2) Matthew Meselson
(3) Thomas Ceek (4) Haragobind Khurana

52, Chromosome rings are formed during

(1) Translocation (2) Inversion (3) Duplication (4) Delition

(%) (Continued)
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Citrus canker is caused by
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(1) Xanthomonas oryzae (2) Xanthomonas citri

(3) Xanthomonas malvacearum (4) Venturia inaequalis

Name the unusual base found in the nucleic acid of T, DNA
(1)  5-hydroxy methylcytosine (2) Dihydrouridine

(3) Inosine (4) Pseudouridine

Narcotics are obtained from

(1) Digitalis (2) Aconitum (3) Papaver

Chlorophyll molecules contain

(1) Mn (2) Mg (3) Cu

Spore bearing structure in Ophioglossum is known as

(1) Spike (2) Sporangium  (3) Prothallus

Which histone 1s absent in nucleosome core

(1) H, (2) H, (3) H,

Acid rain is mainly caused by increased concentration of
(1) Ozone and dust (2) COandCO,

(3) NO,andSO, (4) NH, and CH,

60. Which group of plants has to face physiological dryness

(1) Halophytes (2) Lithophytes  (3) Epiphytes

(9)

(4) Atropa

(4) Fe

(4) Sporophyll

(4) H1

(4) Hydrophytes

(Turn Over
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Stalked pyrenoids are found in the alga

(1) Anabaena (2) Volvox  (3) Saprolegnia (4) Ectocarpus
Progressive evolution theory of Bryophyte is proposed by

(1) Wettestein (2) Cavers (3) Evans (4) Harris

Maturation of sperm takes place in

(1)  Vasefferens (2) Vas deferens
(3) Epididymis (4) Seminal vesicle
Middle ear contain
(1) Incus (2) Radius (3) Humurus (4) Ulna

Luteinizing Hormone secreated from

(1) Pancreas (2) Pituitary (3} Thyroid (4) Gonad
Plugging of vessels is caused by

(1) Verticillium  (2) Phytophthora (3) Albugo (4) Peronospora
Angiospermic type leaf present in

(1) Ephedra (2) Taxus (3) Gnetum (4) Ginkgo
Amphiphloic siphonostele is present in

(1} Pteris (2) Psilotum (3) Adiantum (4) Lycopodium

(1o) (Continued)
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Name the interaction of gene that gives the ratio 15:1 in F, generation

(1)  Duplicate gene (2) Complementary gene

(3) Inhibitory gene (4) Epistasis

Cellulose degrading fungus is

(1)  Chaetomium  (2) Fusarium (3) Alternaria (4) Agaricus
Name a microalga widely known as a source of protein
(1) Anacystis (2) Pandorina (3) Spirullina (4) Aphanothece
Anti HIV drug is
(1) Methotrexate (2) Azidothymidine (3) Bleomycin (4) Kethoxal
Callose is composed of

(1) D-Glucopyranose. (2) D-erythrose (3) D-fructose (4) L-sarbose

Inulin is found in
(1) Chickpea (2) Potato (3) Dahlia (4) Pea
Calyptrogen is present in

(1) Amaryllis (2) Casuarina (3) Oryza (4) Zea mays

Active cell diviston can be seen in

(1) Cambium (2) Pith (3) Pericycle {4) Cortex
Cruciate plakea stage is
(1) 2celled (2) 4 celled (3) 8Bcelled (4) 16 celled

(11) (Turn Over)
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The tautomer of Thymine pairs with
(1) Adenine (2) Guanine (3) Cytosine (4) Thymine
The planktonic forms of plants are

(1) Autotrophs (2) Heterotrophs  (3) Chemotrophs (4) Insectivores

Aerosol pollutants present in the jet plane emission is
(1}  Sulphurdioxide (2) Flurocarbon
(3) Carbon tetrachloride (4) Carbon monoxide

Commercially available biofertilizer nitrazina contains

(1) Rhizobium (2) BGA (3) Azotobactor (4) Azospirillum
Syphilis is caused by

(1)  Haemophilus ducreyi (2) Treponema pallidum

(3)  Staphylococcus aureus (4) Chlamydia tachomatis

The hormone involved in the metamorphosis of tadpole is

(1) Thyroxine (2) TSH (3) Prolactin (4) Somatotrophin
TDZ usedasa

(1) Gibberellic acid (2) Auxin

(3) Cytokinin (4) Growth inhibitor

(12) (Continued)
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What is phytochrome ?
(1) Growthhormone (2) Carbohydrate (3) Enzyme (4) Pigment
Ornithine cycle is responsible for the synthesis of

(1} Urea (2) Asparticacid (3) Citrulline (4) Arginine
Which one of the following is used in soil treatment ?
(1) Captan (2) Sulfex (3) PCNB (4) Thiram
Which of the following organism is used for preparing biocontrol agent 7
(1) Alternaria (2) Trichoderma (3) Helminthosporium (4) Penicillium
Trabaculated endodermis is found in
(1) Selaginella  (2) Equisetum  (3) Marsilea  (4) Azolla
In Jungermanniales the small ventral leaf is called
(1) Legule (2) Sporophyll (3) Spike (4) Amphigastrium
Toxin present in kappa particle is
(1) Ergot (2) Aflatoxin (3) Paramicin  (4) None
Root knot of vegetables-is caused by
(1) Sclerotium (2) Meloidogyne (3) Synchytrium ('4) Taphrina
Kanha biosphere reserve situated in

(1) Assam (2) Gujarat

(3) Madhya Pradesh (4) Meghalaya

(13) (Turn Over)
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94. Hydrophyteis
(1) Salvinia (2) Aloe (3) Capparis (4) Nerium
95. Reserpine for reducing blood pressure obtained from the root of
(1) Ephedra gerardiana (2) Cinchona calisaya
(3)  Rauvolifia serpentina (4) Withania somnifera
96. The active agent of Chalones is chemically &
(1) Mucoprotein  (2) Nucleoprotein (3) Lipoprotein (4) Histones
97. Fairy ring fungus belongs to the family
(1) Pucciniaceae (2) Agaricaceae (3} Dematiaceae (4) Pezizaceae
98. Rustof Linseed is caused by
(1) Uromyces (2) Puccinia (3) Taphrina (4) Melanopsora
99. Sporocarp is present in
(1) Marsilea (2) Isoetes (3) Selaginella (4) Psilotum
100. Seed germination promoted by
(1) ABA (2) Coumarin (3) Ferulic acid (4) Thiourea
101. Gongrosira stage is characteristic feature of

(1) Cladophora (2) Vaucheria (3) Ulorthrix (4) Oedogonium

(14) (Contintied)
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102. Nitrosomonas is a
(1)  Chemoorganotroph (2) Chemolithotroph
(3) Photoorganotroph (4) Photolithotroph
103. CAM plants belongs to
| (1) Euphorbiaceae (2) Solanaceae (3) Poaceae  (4) Cucurbitaceae
104, Which amino acid is involved in the biosynthesis of colchicine ?
(1) Lysine (2) Arginine (3) Tyrosine (4) Tryptophan
105, Diadelphous ( 9+1 ) stamens occurin -
{ i) Malvaceae (2) Papilionacecae (3) Rosaceae (4) Poaceae
106. When several 'genés are transcribed as one mRNA, the mRNA is said to be
(1) Multimeric (2) Polymeric (3) Polycistronic (4) Polyclonal

107. Complete reduction of the disulfide bonds of immunoglobulin G yields
how many different polypeptide chains.

(1) One (2) Two (3) Three (4) Four
108. An antibiotic actinomycin D blocks

(1) Transcription in eukaryotes

(2) Transcription in both eukaryotes and prokaryotes
(3) Polypeptide chain elongation

(4) Polypeptide chain initiation

{(15) (Turn Over)
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109. Which of the following amino acid does not have optical rotation ?
(1} Alanine (2) Glutamine (3) Glycine (4) Asparigine
110. Serumiis

(1) Blood minus fibrinogen
(2} Lymph minus corpuscies

(3) Lymph .
(4) Blood minus corpuscies and fibrinogen

111. The condition of fusion of filaments as well as anthers is

(1) Gynandrous  (2) Synandrous (3) Syngenesious (4) Protandrous
112. Cytokinin synthesis occurs maximum in

(1) Root (2) Fruit (3) Leaves (4} Shoot tip_
113. Haemodialysis is carried out in case of severe defect in

(1) Lungs (2) Liver (3) Kidneys (4) Pancrease

114. Down syndrome is due to

(1) Trisomy of chromosome 21
(2) Trisomy of X chromosome
(3) Tnsomy of Y chromosome
(4) Deletion of chromosome 21

115. A living fossil is

(1} Gretum (2) Marchantia (3} Taxus ) Ginkgo

(16 (Continued)
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116. T cells matures in
(1). Bonemarrow (2) Thymus (3) Liver (4) Spleen

117. Electroporation facilitates introduction of foreign DNA into the target
organism by

(1) Changing the poresity of the cell wall

(2) Changing the electric potential of the cell wall
(3) Active transport across the cell wall

(4) Lysis of the cell wall

118. Which of the following is a metabolic disorder ?
(1)  Sickle cell anaemia (2) Thalassemia
(3) Phenylketonuria (4) Jaundice
119. Pseudoelator present in
(i) Marchantia  (2) Riccia (3) Anthoceros {(4) Forella

120. The gastrular morphogenetic movements which occur in chick having
heavily telolecithal egg are

(1) Convergence (2) Involution

(3) Elongation (4) Allthe above

(17) B—1,200
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